a d
AMSIAINIINANAAT

a LY a d
UK IINBASAIVATIHAITHNT

msaeu'la Uszdmamsdnyii i

Tuh 3 gaiay 2547

o d‘ o ar
91 216-435 : 1nTouaTualnelu

Usgatlmseny 2547

a1 09.00-12.00 .

W04 R 300

'
kv

a9

v
1. doaeuiinavua 6 4o Wimndo
2. Iiwenasae o Whviesasuld
3. vunsesfaautvesasy 1a

Y o o ¥
4. Taimlunszaudinunnie

¥ 9 E4
5. suuuﬁamsaﬁﬂmﬂu%’aﬂaz 50 YDININUA

IRINYT 3TY

Aeondodou
W0 AU
A 18
1 20
2 20
3 15
4 15
5 15
6 15
AZUUUIIN 100
B0 SWEIRANY. ..o,



sWaindnu............
1. Isooctane is supplied to a four-cylinder spark-ignition engine at 2 g/s. Calculate the air flow
rate for stoichiometric combustion. If the engine is operating at 1500 rev/min, estimate the mass
of fuel and air entering each cylinder per cycle. The engine displacement volume is 2.4 liters.

What is the volumetric efficiency?
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6. Show the structural formulas for cyclobutane, methyl cyclobutane, and 1,2,3 trimethyl

benzene.



